5M09a - Use all four operations to solve problems involving measure [money] using decimal notation, including scaling

Local Shop

[ Item Price |
Sandwich £ 2.95
Sausage roll £ 1.39
Carton of orange £ 1.35
Bottle of water £ 1.49
Can of lemonade £ 0.89
Apple £ 0.48
Box of chocolates £ 3.99

| Chocolate bar £ 0.85 |

You buy two cans of lemonade and a sandwich.

How much change do you get from £107?

£

Greengrocer

[ Item Price |
Orange £ 0.60
Apple £ 0.50
Banana £ 0.70
Pineapple £ 1.80
Melon £ 1.90
Mango £ 1.40
Peach £ 0.90

| Lime £ 0.80 |

Evan buys 8 oranges and a pineapple.
How much does he spend in total?

£

Harry has £22.50 and then spends £8.59.
How much money does he have left?

Sweet shop

[ Item Price
Gobstopper £0.80
Pack of chews £0.70
Chocolate toy egg £0.90
Pack of mints £0.60
Bag of caramels £1.70
Chocolate bar £1.90
Box of fudge £2.80

| Box of chocolates £3.50 |

Rory buys 4 gobstoppers and a chocolate bar to share
with his friends.
How much change does he get from £107

£

Kai has £20.80 in his money box.
Elsie has a quarter of the amount.
How much does Elsie have in her moneybox?

A can of coke costs £1.
A four pack of coke costs £2.80.
How many pence cheaper is a single can of coke when
bought in a four pack?

P




